EARAROBEEIERT — 2 N— IBISH —F

201556 3H (k) 5EIEHE2H

mTﬂ- OB A4 Y5%—H% ‘ xz] 2 ‘ il  — | 4 (&) 14000 R&
[AE&4€)]1%&:215000H ~ 23#%&:39,000MH ~ 3#&:1500MH  4#%:11,000H / 5&%:0M
mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
eI 6 ;ﬁiﬁﬁofﬂ 1:(2_6).8 2-2-2-1 | 36.7| — 2 503 i}g%ﬁ# (BHE)
QT ETA YTy IR B FUF AL I0 C0 | s
N A .96, g . — sy (BHE)
<Y/ LR N 56.0 1(12/62>g SEa2 | % 1 (f?g) Bﬂﬁﬁ%—?—
L:wy¥/ by THY BRy NTYUTLZ Al BEEl
FERIEAE : -3-3- — ABEL (BEHE)
FHR_INLY R i 5 Rt 1.(268>.l 3-3-3-3 |37.8 3 <4+824) e RaE
R:A—-J XA A4 B:UURZILI-X b J=HrTp—L
Sl a0 (S H o7 E%J%E— 1:(25.8 1-1-1-4 |39.8| — | 4 (4:3; ﬁfg%%l(%aé)
A:Rock Hard Ten B:/—T77 17— BINET 7 — L
RPN b AT ES :30. -4-5- . — SRABEX (BHE)
slsls | ARV LI 6 A54%§é 1(330)5 4-4-5-5 |39.3 5 :1:174) R it
LA —JIWh7x B:RU—LIXZAIL S
= 9 FRAE :31. —7-6- . — e TRRE (BHE)
6111171 74=552 i 5 s 1(361)8 7-7-6-6 | 39.0 7 (4_316) i T
R:FaFL 4 B:I7IVIILEL HET7— L4
s N B~ : —6-7- - FEBS (BEE)
2 0| TamILTSA b it 6 A 1.(352>.8 6-6-7-7 | 39.9 6 (4_310) BB BhE
L:xrinMa0— B:xavwIs37IF7q NIENTT— L
@ 1 — S —EBIEf
13—7+— 3,4,7,5,6,2,1
A== 3,4,7,5,6,2,1
Jol=5r= 3,4,7,6,5,1,2
40—+ — 4,6,7,3,5,1,2
[ N3
BB 4 270H 714K 4-6 110H B = 4-6 140H 3EHE 4-6-7 130H
8 B 4 110 4-7 100M B H 4-6 480M K31 4-6-7 560M
6 100M 6-7 150M

ABICOVWTRDTEEERROODE. TR LIV,




